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Demand for Inter-basin Transfer of Water in the Country 

SHRI SURYAKANTBHAI ACHARYA (Gujarat): Sir, the average annual 

surface water flow in our country is estimated at 1869 billion cubic meters, 

while the ground water potential is about 432 bilIion cubic meters. But, because 

of topographic condition, only 1122 billion cubic meters of water is utilizable. 

Only 605 billion cubic meters of water is being utilized—410 billion cubic 

meters for irrigation, 30 billion cubic meters for domestic, 20 billion cubic meter 

each for industry and energy and 34 billion cubic meters for other purposes. 

The average annual potential in river basin of India is 66,003 million cubic 

feet, out of which only 24,367 million cubic feet is utilized, while 41,637 million 

cubic feet is wasted and goes into the sea. 
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Potential of peninsular rivers is 17,720 mcft, out of which 9,083 mcft is utilised, while 

8,637 Mcft is wasted into the sea. One mcft of water can irrigate 2000 hectares of normal 

land to 4000 hectares of fertile land which will, in turn, give two to five tonnes of agricultural 

produce. Out of the total unutilised water in India, 74 to 148 million hectares of land can be 

irrigated, which will give us a production of 148 to 814 million tonnes of paddy. Because of 

wasted water, we are losing, in peninsular India, something like Rs. 16,500 crores to Rs. 

90,750 crores worth of foodgrains, and, in entire India, Rs. 81,400 crores to Rs. 4,50,000 

crores worth of foodgrains. 

 

Inter-basic transfer of water should be ensured to create about 200 million jobs 

and to produce about 450 million tonnes of foodgrains needed by 2050 A.D. 

Danger to Food Security due to Import of  

Wheat in the Country 
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